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statements :
at the intermediate
pPanc ayatsin all States.

be a Member of
at the intermediate
Panchafé’aéon should attain the

a
rty years:
L tyMinister of a State

of T
111 The _Ch1e commission to review
con?_tlllt;rfgisa]aposition of Panchayats
thet}lle intermediate levels and tg
atakc recommendations regardin
?ﬁe gistribution of net proceeds of
taxes and duties, leviable by the
petween the State and

?ﬁfﬁay ats at the intermediate level,

Which of the statements given above are

not correct?
(@) 1 and II only (p) 11 and III only A

(c) 1and Il only d) I, 1 and III

Jowing

2. Consider the following statements in

respect of BIMSTEC :

I It is a regional organization
consisting of seven member States
till January 2025.

II. It came into existence with the
signing of the Dhaka Declaration,
1999. !

Sri Lanka,

IIl. Bangladesh, India,

Thailand and Nepal are founding

member States of BIMSTEC.

IV. In BIMSTEC, the subsector of g

‘tourism’ is being led by India.

Which of the statements given above
is/are correct?

(@ 1 and II
(¢ 1and IV

() 11 and III
(d) 1 only

3. Who amongst the following are members

?f the Jury to select the recipient of
Gandhi Peace Prize™?
;i The President of India
IIi The Prime Minister of India
. The Chief Justice of India

+ The Le i3 in the
ok lf;lggr of Opposition 11

Select the . de
given beloar(?rrect answer using the c0

@ 1 and v only (b) 1, 11 and HI

© 1,10 and v 4(d) 1and I only

?K'O‘PSOIM 5

4 gps-Aided Geo Ay

5. Consider the

(GA(_.‘:AN] uses g g:;es?;:: N“Vigation
stations 10 proyige Broung
augmentation. Which of & Necessary
Statements is/are correct ine tollowmg
GAGAN? Tespect of

1. It is designed to prow %
accuracy and integrit;e additiong

j1. It will allow more uniform 4
quality air traffic manage;‘;ithlgh

. It .W.ﬂl provide benefits only ;
aviation but not in other modes H}
transportation. ¥

gelect the correct answer using the code

given below.

(@) 1, 11 and III

(c) 1 only

(b) 11 and III only
¢(d) 1 and II only

following statements
regarding Al Action Summit held in
Grand Palais, Paris in February 2025 :

1. Co-chaired with India, the event
builds on the advances made at the
Bletchley Park Summit held in
2023 and the Seoul Summit held in
2024.

II. Along with other countries, US and
UK also signed the declaration on
inclusive and sustainable AL

Which of the statements given above
is/are correct?
(b) 1I only

(@) 1 only
e(c) Both I and II (d) Neither I nor II

6. Consider the following pairs :

L

II.

P 111,

International Year of the 2026
oman Farmer

International Year of 1 2027
Sustainable and Resilient
Tourism
International Year of Peace i 2025
and Trust

: 2029

International Year of Asteroid
wareness and Planetary

Defence b

How many of th% ?axrs given above are
correctly matche LRt

(@) Only one (b) inyﬂwtv:‘f‘:mr

(¢) Only three M o bein: S

' mw ~ [P.T.O.

F y
CER M




7. Consider the following statements with
regard to BRICS :

. 16th BRICS Summit was held
under the Chairship of Russia in

Kazan.

II. Indonesia has become a full
member of BRICS.

III. The theme of the 16th BRICS

Summit was Strengthening
Multiculturalism for Just Global
Development and Security.

Which of the statements given above
is/are correct?

fa) I and II (b) 1I and III
¢ 1 and III s (d) I only

8. Consider the following statements about

Lokpal :

I. The power of Lokpal applies to
public servants of India, but not to
the Indian public servants posted
outside India.

Il. The Chairperson or a Member shall
not be a Member of the Parliament
or a Member of the Legislature of
any State or Union Territory, and
only the Chief Justice of India,
whether incumbent or retired, has
to be its Chairperson.

Ill. The Chairperson or a Member
shall not be a person of less than
forty-five years of age on the date of
assuming office as the Chairperson
or Member, as the case may be,

IV. Lokpal cannot inquire into the
allegations of corruption against
a sitting Prime Minister of India.

Which of the statements given above
is/are correct?

(@) 1II only

(b) 1l and III

() I and IV

*(d) None of the above statements is
correct

W M e s—m =

er the following statements in

9. Consid first Kho Kho World Cup :

I The event was held in Delhi, India.

beat Nepal with a score
the final to become the
men category.

1. Indian mc.n
of 78-40 in ) :
World Champion 1n

women beat Nepal with a

. Indian :
s score of 54-36 in the ﬁl_:al Fo
become the World Champion 1n

women category.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 11 and III only
e(c) 1 and III only

(d) 1,11 and 1II

~ 10. Consider the following statements :

I. In the finals of the 45th Chess
Olympiad held in 2024, Gukesh
Dommaraju became the world’s

- youngest winner after defeating
the Russian player Ian
Nepomniachtchi.

II. Abhimanyu Mishra, an American
chess player, holds the record of
becoming world’s youngest ever
Grandmaster.

Which of the statements given above
is/are correct?

a) 1 only

(b) 11 only

(c) BothI and Il

(d) Neither I nor I



tements :

elements are used
re of flat television

raré
factu :
ant puter monitors,

in the and com

earth elements have
properties.

following is correct in
ct%e above statements?

ment 1 and Statement II
o(a) Both E;;Egct and Statement [I
Al gtatement 1
ment I and Statement II

te
(b) Bothcosrtraect put Statement II does

i;et explain Statement I
ment [ is correct but
& gtrgigment Il is not correct

tement 1 is not correct but
(d) gttgtement II is correct

llowing statements :

| Indian Railways have prepared a

" National Rail Plan (NRP) to create
a future ready’ railway system by
2028.

. Kavach’ is an Automatic Train
Protection system developed in
collaboration with Germany.

. Kavach’ system consists of RFID
tags fitted on track in station
section. ;

Which of the statements given above are
not correct? ;

efa) 1and II only

(b) 1 and III only
() 1and I only
(d) 1,11 and III

12. Consider the fo

[3. Consider the following space missions :

L. Axiom-4
I SpaDex
4. Gaganyaan

How man -
y of the space missions given

above
ey it . sapport. R
Q(q} Only one (b) Only fwra

-0-ps0/86¢

With

14+

1.

m. ©

15.

16.

reference to India’s

T the following paj_rs . defence’

¢ onsidc
M,craft type Description
aircraft

Supersonic co
} m
aircraft .

Military trans
aircraft P

Dornier-

i1-76

A Globe-
master 11

any of the pairs given above are

c:rrecﬂy matched?

I EE

(b) Only two

. (c) All the three
(d) None

Artificial way of causing rainfall to reduce
air pollution makes use of

(a) silver jodide and potassium iodide
(b) silver nitrate and potassium iodide
. (c) silver iodide and potassium nitrate

(d) silver
chloride

nitrate and potassium

Consider the following statements with
regard to pardoning power of the
President of India :

I. The exercise of this power by the
President can be subjected to
limited judicial review.

II. The President can exercise this
power without the advice of the
Central Government.

Which of the statements given above
1s/are correct?

(@ 1 only
(b) 11 only

* () Bothandm
(d) Neither I nor II

Ry~ “s ‘.’14‘,
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owing statements :

Considcr e d‘;’ssolution of the House of

7. , on the e, the Speaker shall not

" the peop t;is/hef office until

Yacatiiiat ely pbefore the first

unmqﬂg of the House of the People
mcu:rtl the dissolution.

aft ding to the provisions of the

[ AcCOl tion of India, & Member of

Cconstl ce of the People on being

the HOUS® T eaker shall res
as Sp¢ : ign
:rloe::l'ltcd nis/her  political  party
;mmediately-
gpeaker of the House of the
The be removed from

e may .
:;:ﬁ]wr office by a resolution of the

House of the People passed by a
majority of all the then Members of
House, provided that no
resolution shall be moved unless at
Jeast fourteen days’ notice has been
- »n of the intention to move the

resolution.

Which of the statements given above are -

correct?
fg) 1and Il only
) I and III only
ofc 1and Il only
{d L1l and II \ _
18. Consider the following statements :
I. Ifany question arises as to whet
a Member of the House of

People has become subject fo
disqualification under the 10th
Schedule, the President’s decision
in accordance with the opinion of
the Council of Union Ministers

shall be final,

I There is no mention of the word
party’ in the Constitution

‘political
of India,
Which

(b) 11 only
‘() Both I and 1

) of ~
o i comﬂ;et? statements given above
(a) I only } 4 i 5

consider the following staer

smtcmcnt I:
In India, State Govémm
no power for making ruleg g0 have
of concessions in respect
extraction of minor mineryq ev::‘

though such minerals are
in their territories, SMod

in India, the Central Government

has the power to notify miner
minerals under the relevant law.

which one of the following is correct in
respect of the above statements?

o(a) Both Statement I and Statement 1l
are correct and Statement II
explains Statement I

@) Both Statement I and Statement Il
are correct but Statement II does
not explain Statement I

() Statement I is correct but
Statement II is not correct

(d) Statement 1 is not correct but
Statement II is correct

20. Which organization has enacted the

Nature Restoration Law (NRL) to tackle
climate change and biodiversity loss?

(@ The European Union
() The World Bank

‘) The Organization for Economic
Cooperation and Development

(@) The g e
Organization




pecome MYy religion” wag
s statement given by Gandhijj

the Champaran Satyagraha
)

(@
o) publicly violating Salt Law at Dandj
@

nding the Second Round Table

] atteference in London

Con.

d) the jaunch of the Quit Indiag
Movement

22. The famous female figurine known as
: PDancing Girl’, found at Mohenjo-daro,
is made of h

fa) carnelian

*[b) clay
fc) bronze

(d) gold

23. Who provided legal defence to the P@@pi&

arrested in the aftermath of Cham'ib

Chaura incident?
(a] o R, Da_s
(b) Madan M

® (c)
asan Nizanu

(c)

- M. A Jinngp

Dr. Saifuddi s
¥ aifuddin Kitchlew and Khw‘j‘ Yo -

gubsequent 10 Which one of e g
24. svents, Gandhiji, whg Consi
osed untouchability a4 Stently

(f)frp ite_eradication from gy o ched
recide d to mcl}.1de the upliftmen‘:es’f
‘Harijans’ in his political and socigl
Programme?

(a) The Poons Eact

“ The Gandhi-Irwin Agreement

(Delhi Pact)

s () Arrest of Congrt?ss lea}dership at the
time of the Quit India Movement

(d) Promulgation of the Government of
India Act, 1935

5. Consider the following fruits :

1. Papaya
II. Pineapple
III. Guava

How many of the above were introduced
in India by the Portuguese in the
sixteenth and seventeenth centuries?

(b) Only two

(d) None

(a) Only one
*(c) All the three
26. Consider the following countries :
. United Kingdom
II. Denmark
. New Zealand
V. Australia
V.  Brazil

g‘;“’ many of the above countries have
e than four time zones?

(@ All the five (b) Only four

) Only three o(a) only two
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32.

revenue expenditure jq

: Supposeo crores and the revenye

z 39,00 of the Government  gre
reCCIPtSO crores. The GOVmeent
£ 60,0 4180 shows borrowings g

et ;
i e a1 1, P
. 'n,:; statements are correct?
follo‘::evcnuc deficit is T 20,000 crores,
ﬁ Fiscal deficit is < 10,000 crores,
IIi. Primary deficit is T 4,000 crores,
gelect the correct answer using the code
given belo
fa) 1 and II only
() I and III only
e 1 and III only

od L1 and III

India is one of the founding members of
the International North-South Transport
Corridor  (INSTC), a  multimodal
transportation corridor, which will
connect :
sfa) India to Central Asia to Europe via

Iran e

(b) India to Central Asia via China

() India to South-East Asia through
Bangladesh and Myanmar

(d) India to Europe through Azerbmjaﬂ

33. Consider the following statements @

Statement I :

Of the two major ethanol producers
in the world, i.e., Brazil and the
United States of America,

former produces more ethanol than
the latter,

Statement I :

Unlike in the United States Of
America where corn is the prinei

feedstock for ethanol productiom
Sugarcane  is  the principal

feedstock for ethanol production i
Brazil, :

which one of the follgy;, .

g is
sespect of the above statemenctl?ect .
(@) Both Statement | g,
’

d
are 'correct and Sst:ltement it
explains Statement | Cment

(b) Both Statement I an

ds
are correct but statemtatemem I

s (+}
not explain Statement | nt I doeg

Statement 1 is  corree
: t
(e statement II is not correct but

gtatement I is not correct
(@) statement II is correct but

World Bank warned that ing;
34. T:;uld become one of the first plai:
where wet-bulb temperatures routinely
exceed 35 °C. Which of the following
statements best reflect(s) the implication
of the above-said report?

. Peninsular India will most likely
suffer from flooding, tropical
cyclones and droughts.

II. The survival of animals including
humans will be affected as
shedding of their body heat
through  perspiration becomes
difficult.

Select the correct answer using the code
given below.
(@) I only
_ (b) IT only
#(c) Both I and II
(d) Neither I nor Il

35. A country’s fiscal deficit stands at
¥ 50,000 crores. It is receiving
T 10,000 crores through non-debt
Creating capital receipts. The country’s
Interest liabilities are ¥ 1,500 crores.

at is the gross primary deficit?

(@) T 48,500 crores

) ¥ 51,500 crores
*(c) ¥ 58,500 crores

(@ None of the above




1

oo

following statements
36 which Otfot:’;ommendations of the 1 St
: regarc;c Commission of India P,
Finan
?
coﬂ'ﬁl‘;t has recommended grants ot
5 ¥ 4,800 crores from the
202’2—23 to the year 2025'26,."&'
inccntiviZing States to enhap
cducational outcomes, ‘
45% of the net procceqs of U
L. taxes are to be shared with States,
m € 45,000 crores are to be kept &
3 Pc,—forrnance-baged incentive for gJ)
States for carrying out agricul
reforms. tural

v It reintroduced tax effort criteria to

reward fiscal performance.
Select the correct answer using the code
given below.
@ I, 1 and I
) 1,1 and IV

g 1, 1 and IV = i ;_

ofd 1, I and IV ;

37. Consider the following statements

respect of the International Bank

Reconstruction and  Developm
(IBRD) : :

. It provides loans and guarant

middle income countries.

I. It works single-handedly to .

developing countries to re

poverty. -

Il It was established to help W
rebuild after the World War II.
Which of the state ts given
ments given abp?? ,

@ 1and 11 only ‘ :;
f”l Il and 111 only g

¢ land III o e
*@) 1,11 ang mnly p :%‘ 2y

Consider {pe following statements
[SPect of RTGS and NEFT :
In RTGS, the settlement ti
Npentancous while in case
FT, it takes some time t0
Payments, i

S
4
]

o’

. In RTGS, the ¢y ;
is not the case for NEnwh“‘ that

, Operating hours
m restricted on cmmf%r RTG'S are
AY8 While 1
is not true for NEFT, thig

jch of the statements
i“,,}jare correct? Biven aboye

{a) ]Oﬂly

(b) Iand i
(d) T only

39. consider the following countries -

1. United Arab Emirates

j1. France

1. Germany

[v. Singapore

v. Bangladesh

How many countries amongst the above
are there other than India where
international merchant payments are
accepted under UPI?

(a) Only two (b) Only three

e(c) _Only four (d) Al the five

40, Consider the following statements about

PM Surya Ghar Muft Bijli Yojana’ :

I. It targets installation of one crore
solar rooftop panels in the
residential sector.

Il. The Ministry of New and Renewable
Energy aims to impart training on
installation, operation, mainte-
nance and repairs of solar rooftop
Systems at grassroot levels.

I It aims to create more than
three lakhs skilled manpower
through fresh skilling, and up-

under scheme component

of capacity building.
mg the statements given above are

(@) Y and 11 only
®) 1 and only




to the Indian Polity

; reference .
4l. W’lﬂ'lrlsi der the following statements -
co ordinance can amend any
L. centfal Act.
\ Ordinance can abridge a
] an Ordinance can come into effect
| 1. g s pack date.
E which of the statements given above are

@ 1 and II only
) 1 and I only
R and III only
@d L 11 and III

42. Consider the following pairs :
Descriptiou

State
{ Arunachal : The capital is named after
, " pradesh a fort, and the State has
. two National Parks i
| [ Nagaland : The State came into exis-
tence on the basis of a
Constitutional Amendment
Act < e
I Tripura Initially a Part ‘C’ State,

it became a centrally
administered territory with
the reorganization of
States in 1956 and later
attained the status of

a full-fledged State

T T—————————

How many of the above pairs are
correctly matched?

(@] Only one (b) Only two

*(c) All the three (d) None

43, wi
With reference to India, consider the
following . I
;I The Inter-State Council
+ The National Security Council
- Zonal Councils R

U
3 VPK'O‘PSOIssc

many of the

oW
I:stabliShed as per the SUOVE e

POVisiong of

the Constitution of Indigp
(@) Only one (B) Only tyg
All the three (d) None

o (C)
C onsider the following statements .

The Constitution of India explicith
mentions that in certain spher :;

the Governor of a State acts ip
his/her own discretion.

44.
A

The President of India can, of
his/her own, reserve a bill passed
by a State Legislature for his/her
consideration without it being
forwarded by the Governor of the
State concerned.

11

Which of the statements given above
is/are correct?

[a) I only -

(b) 11 only

ofc) Both I and Il

{(d) Neither I nor 11

45. Consider the following pairs :

Provision in the Stated under
Constitution of India
I. Separation of Judiciary : The Directive
from the Executive in Principles
the public services of of the State
the State Policy
1L thﬂuing‘and preserving : The Funda-
of the rich heritage of mental Duties
4 our composite culture
. PmI'Ohlbition of employ- : The Funda-
ent of children below mental Rights

€ age of 3
factorieg 14 years in

How many of the above pairs are

correctly matched?
(@ Only one ¢(b) Only two

(¢} All the three ~ (d) None




- the following statements :

onside . .
BL’ reference to the Constitution o

: area in a State is declq
Indig’c 1'11{3 gﬁled Area under the Fff:g
Schedule
o State Government loses jio
Ii eClltiVe power 1n such areas
& local body assumes toge
administration
nion Government can t
IL. g‘l,zr Uthe total administrationm:;‘
such areas under certain circym,.
stances on the recommendations of
the Governor

wWhich of the statements given aboye
is/are correct?
(@ 1 only
ofb) 1 only
fc¢) Both I and II
{d) Neither I nor 11

following pairs : 2

| Organization Union Ministry
{ L The National :  Ministry of %
Automotive Board Commerce and
- Industry
I. The Coir Board Ministry of Heavy

i
|
i Industries
i
|

| IL The National Ministry of Micro,
Centre for Trade Small and Medium
Information Enterprises 2y

How many of the above pairs are
Correctly matched?

(@ Only one (b) Only two
") All the three (@) None .
8 0 .
C°n31dk_3r the following subjects under the
Ionst‘tutiOn of India : '

List I-Union List, in the seventh
Schedule

g"ttent of the executive power of 2
e

I,

I, o PGS
Conditiong of the Govcrnorfa-ﬂm' ,

/s6c

49, With

47. With reference to India, consider the

por @ constimﬁqnal am )
rcspect_ to  which of ¢ & ab“nth
ratification by the Legislatures at ove
less than one-half of the g n
i quier before presenting the

prcsident of India for assent?
1 and II only

(p) 11 and TIT only

[ LR

ofd) P ongy 1

ot

bill to the

reference to the Indian polity,
consider the following statements -

I The Governor of a State is not
"  answerable to any court for the
exercise and performance of the
powers and duties of his/her office.

II. No criminal proceedings shall be
instituted or continued against the
Governor during his/her term of
office.

III. Members of a State Legislature are
not liable to any proceedings in any
court in respect of anything said
within the House.

Which of the statements given above are
correct?

(@ I and II only
(b) 1I and III only
(¢ 1and III only
°(d) 1, 11 and III

50. Consider the following activities :

L
II.

Production of crude oil

Refining, storage and distribution
of petroleum

Marketing and sale of petroleum
Products

Production of natural gas

H
rec;‘:;l f:lany of the above activities are
s aied by the Petroleum and Natural
gulatory Board in our country?

@) Only one (b) Only two
fe) Only three e(d) All the four

111,

v,

.,ﬁ’ "5. Jse.




i e following types of vehj
11

pull battery electric vehicleg
ydro gen fuel cell vehicleg
electric hybrid vehj

b

Iﬁ puel cell” :

. many of the above are conside:
i ternative powertrain vehicleu’& ,

H
as 8l
(a} only oneé (b) Only two
F g Al the three  (d) None :

gitn reference to Unmanned.

vehicles (UAVS), consider tlr;{g:ifo

statements :

[ Al types of UAVs can d’ﬁ"
landing. :

1. Al types of UAVs can da a

hovering.

m. All types of UAVs ca;g
only as a source of pow

52.

How many of the stat
above are correct?

(@ Only one (b) Onm

© All the three  o(d)

| 5. In the context of electric ve
i consider the following

|

L Cobalt
L Graphite
M. Lithium
V. Nickel

manyofthe above i
"ﬂ*tery

"

4, consider the following :
{ Cigarette butts
1. Eyeglass lenses
L. Car tyres

How many of them contam plastic?
{a) Only one

(b) Only two
p {C) All the three

5

(d) None

55, Consider the following substances :

1. Ethanol :
. Nitroglycerine
II1. Urea s e

Caal gasﬁcattox). technology can ‘be used
in the productlnn of how many of them?

fa) Only one
(b) Oﬂly tWﬂ ,
efc) All the three ;
(d) None

. What is the common characteristic of the
chemical substances generally known
as CL-20, HMX and LLM-105, which are
sometimes talked about in media?

(@) These are alternatives to hydro-

fluorocarbon refrigerants

These are explosives in military
weapons

(b)

(o) These are high-energy fuels for

Cruise missiles
*(d) These are Aftwhl im'
Propulsion - o




™~ co ik cxpectcd that Ma_]ora_m
L ‘Iﬂn enable quantum compy,

iorana 1 Chlp P ha's
il M?ﬂgduced by  Amazon
S rvices (A )-

with reference to monoclonai
often mentioned in news,
following statements : :

They are man-made

. They stimulate
function due to the
to specific antlge s.
. They are used -_m.
infections like that of

Which of the statements
correct?

W TandMonly "
() 1l and Il only
() Tand I only

' Lilandm . .

L No virus can
Waters. =

ow many of the g, ‘
Ia‘.lbovc are correct? te% m— Y

(@) Only one
(b) Only two

(c) All the three

o(d) None

60 consider the following statements :

gtatement I -
Activated carbon is a good and an
attractive tool to remove pollutants
from effluent streams and +to
remediate  contaminants from
various industries.

Statement II :

Activated carbon exhibits a large
- surface area and a strong potential
for adsorbmg heavy metals.

Statement III

Actlvated carbon can be easily
syntheslzed from environmental
wastes mthhlgh carben___eontent.

Which one of the following is correct in
respect -af __the above statements?

o(a) Both Statement Il and Statement Il
are correct and both of them
explain Statement I

(b) Both Statement Il and Statement III

are correct but only one of them
explains Statement I

(c) OInlxir one of the Statements I and
8 correct and that explains
Stetement I ﬁp ‘

?!either Shtement 11 nor Stxtemew =
II is correct: s e mat

()




; ;:‘e_‘;
N 4

by LA

ing statements ;:

Consider the followilt
: t 1
Smte:n:ies indicate  that carbon

: :ssions from cement
. ide emissio

913133“3, account for_mpre than 5%
g} global carbon €missions.

tement 5 : . :
o gilica-bearing clay is mixed with
limestone while manufacmﬁgg_‘

cement.
Statement L
Limestone is converted into lime
during clinker production for
cement manufacturing,.

Which one of the following is correc
respect of the above statements?

v Both Statement Il and Statement ITT
are correct and both of ‘them
explain Statement I Y mraaT

(b) Both Statement Il and Statemen
are correct but only one
explains Statement I

(c) Only one of the Statements
Il is correct and that exp
Statement 1 i o

(d) Neither Statement Il ho:;_g
Il is correct B

62. Consider the following -Statémehié

Statement I : % i
At the 28th United Nations CHIX e
Change Conference (COP28), Ind
refrained from signing the "D -lara-
tion on Climate and Health’.

Statement II : e
The COP28 Declaration on Clima®
and Health is a binding declaration;

if signed, it becomes man

ich one of the following g
respect of the above stateme:t‘;?‘ect in

(@) Both Statement IT and State
are correct and both
explain Statement I

ment jj
of them

(b) Both Statement Il and Statement 111
are correct but only one of them
explains Statement I

() Only one of the Statements II and
[l is correct and that explains

Statement I

+(d) Neither Statement II nor Statement

11l is correct

63. Consider the following statements -

Statement I :
Scientific studies suggest that a
shift is taking place in the Earth’s
rotation and axis.

Statement II :

Solar flares and associated coronal
mass ejections bombarded the
Earth’s outermost atmosphere with
‘tremendous amount of energy.

Statement III : 5

As the Earth’s polar ice melts, the
water tends to move towards the
equator.

Which one of the following is correct in
respect of the above statements?

¢ (@) Both Statement II and Statément III

are correct and both
explain Statement I pf them

(b) Both Statement Il and Statement I1I

are correct but only on ,
explains Statemenr:h{ : e of them

(¢) Only one of the

Mt tnre Statements II and
tl

and that explains

(d) Neitﬁer Sta i .
, tat
II is ¢on'ec: mentnnor Statement

[ P.’I\_O.



o following statements :
z der
con®’

. tl: .
64 Statelﬂe.:le 6 of the Paris Agreement

is frequ
imate change 18 _-cduently
o{l 515156 in global d1scussions
dlscsustainable development ang
climate change:

ent II - .
statem je 6 of the Paris Agreement op

Artic
cimate change Sets out the
principles of carbon markets,

tatement i : _
o Article 6 of the Paris Agreement

on climate change intends tg
promote inter-country non-market
strategies to reach their climate

targets.

Which one of the following is correct in
respect of the above statements?

v(a) Both Statement Il and Statement III

are correct and both of them &

explain Statement I

(b) Both Statement II and Statement III '

are correct but only one of them
explains Statement I

c) Only one of the Statements II and

Il is correct and that explains

Statement 1 :

(d) Neither Statement II nor Statement
IIl is correct

65. Which one of the following launched the

Nature Solutions Finance Hub for Asia
and the Pacific’?

‘@ The Asian Development Bank
(ADB)

(b) The Asian Infrastructure Invest-
ment Bank (AIIB)

() The NemDevelopment Bank (NDB)

(d) The Internation

Int onal Bank for Recon-
su-mm Developmen‘t (IBRD)

go

reference to Direcy "

an e::rx.lf:rgll'tlgt technology wl}rlic(;'lapt“re'

followmg statcments is/are cgrr:ft?t &
C

[t can be used ag 5 way

= sequestration,

an be a valuab)
L € appr
I plastic production andp c;ich for
processing. fooq

m. In aviation, it can be g SO
of carbon for combining With

hydrogen to create Synthetic
Jow-carbon fuel.

gelect the correct answer using the code
given below.

(@ 1 and II only
(b) I only
ofc) I, 1I and III

(d) None of the above statements is
correct

67. Regarding Peacock tarantula (Gooty
tarantula), consider the following
statements :

L. It is an omnivorous crustacean.

II. Its natural habitat in India is only
limited to some forest areas.

L In its matural habitat, it is an

arboreal species.

;Nhich of the statements given above
S/are correct?

(@ 1 only
®) 1 ang i
© n only
@ 1 ang m




the following statements ; How ™any of i

’ Coﬂsidcr corrCCtl y matChed'Pe a'bo\re ; am
joxi 0O,) emissio
n dioxide (€O ns in Only two
L IC %ri';o are less than 05 t Co,/ (a) y
1
capita: (b) Only three
In terms of CO, emissions from ) Only four
I el combustion, India rankg
second in Asia-Pacific region,  d e oy -
. Electricity and heat producers are
- the largest sources of (‘_302
emissions in India.
Which of the statements given above mo, With reference to the planet Earth,

. followin 5
is/are correct? consider the g statements -

fg) 1and II only I. Rain forests produce more oxygen
" than that produced by oceans.

{b) 1 only

fcg 1 and III only

[I. Marine phytoplankton and photo-
synthetic bacteria ‘produce about
50% of world’s oxygen.

efd 1, I and III

III. Well-oxygenated surface water
contains several folds higher

S oxygen than that in atmeospheric
"" 5 air.

69. Consider the following pairs :

Flant Description :
L Coska }Nhlch of the statements given above
. ” : Woody shrub S/are correct?
I. Gi
Ginger : Herb with @ Yanam
0 pseudostem
E m _
Malabar spinach ; Herbaceous b) 1 only
Y climber
¥ N- Millt ¢ (c)
E . : Annual shrub Lang 11
. " Papayg :
- : Woody shrub (d) None g |
f th b
Correct e habove__ statements is




Corlsider ﬂ.w
1 I Austﬂa
g BuE™
Iﬂ‘ CrOa.tla
V. Scrbia
v gweden :
Vi North Macedonia
g.loeWN:)nrﬂ'l Atlantic Treaty Organization?
@ Only three  (b) Only four
(¢ Only five ¢(d) All the six
” Consider the following countries :
| Bolivia II. Brazil
M. Colombia IV. Ecuador
y. Paraguay VI. Venezuela

Andes mountains pass through how
many of the above countries?

fa) Only two (b) Only three

() Onlyfour  (d) Only five
73. Consider the following water bodies :

. Lake Tanganyika
II. Lake Tonlé Sap

I Patos Lagoon :
Through how many of them does the
€quator pass? '
(@) Only one (b) Only two

() All the three (d) None

74. Consider .
r the following statements about

:“nnll:;c d%mng the year 2022-23 :
1a is the largest producer and

exm_n??{_?f furmeric in the world.

m “;nglnaeucs of turmeric

Hoie
tes iy

3

Major turmeric

:oh of the state
?g;;gct? o
(@ 1 and II only
) 11 and III only
(c) | and III only

,(d) 1, 11 and III
.. of the following are ;
V‘Qﬁ]‘&i phenomenon o%’ Conélrll:net:ldgg;?f
{ The 'belt of ancient rockg &
*  PBrazil coast matches with thom
from Western Africa. Y
he gold deposits of G
11 gerivegd from the Brazilha:;teaéz
when the two continents lay side by
side.
11, The Gond)wax_aa system of sediments
from India is known to have its
counterparts in  six different

nts giv
en abo
Ve ar
-3

75.

landmasses of the Southemn
Hemisphere.
gelect the correct answer using the code
given below.

(a) 1 and 111 only

() 1 and II only
o(c) 1,11 and III

(d) 11 and III only

_76. Consider the following statements :

Statement 1 :
The amount of dust particles in the
atmosphere is more in subtropical
and temperate areas than in
equatorial and polar regions.
Statement II :
Subtropical and temperate areas
have less dry winds.

1Which one of the following is correct in
€spect of the above statements?

(]

(@) Both Statement 1 and Statement II
are correct and Statement
explains Statement I
Both Statement I and Statement II
rall‘et correct but Statement II does
SO explain Statement I

ta;c:ement I is correct

€ment II is not correct
tatement | is not correct but

Statement II is correct

()

(c)
(d)

but

A
T e



der the following statements

cons*

St:atﬂment ki

January, n i the Northern
Hemisphere, the isotherms bep q
i uatofward while crossing the
] andmasses’ and poleward while

croSSing the oceans.

m

In January, the air over the oceang
;s warmer than that over the
jandmasses 1N the Northern

Hemisphere.

which one of the following is correct in
respect of the above statements?

,{a) Both Statement I and Statement II
are correct and Statement II
explains Statement I ‘

(p) Both Statement I and Statement II
are correct but Statement II does
not explain Statement I

(¢ Statement I is correct but
Statement II is not correct :

(d) Statement 1 is not correct it

Statement II is correct

78. Consider the following statements :
Statement I : :
In the context of effect of water on
rocks, chalk is known as a very
permeable rock whereas clay is
known as quite an impermeable or
least permeable rock.
Statement 11 :
Chalk i '
e 1; atp;l:ous and hence can
Statement 111 :

Clay is not at all porous

respect of the aboonowing is correct in

(a) Both Sta Ve statements?
are @r::c?en:;éand Statement 111
% :‘Plaln Statemeny Ib°th of them
Oﬂls
' e COS::?CM T ang Statement 111
explaing g but only emen
tatementl one of them

79. C

Only one of the g

(c) 111 is correct antlatementa 1

that and

gtatement I ®Xplaing
Neither Statement y;
’ (d ment Il is correct Nor  State.

onsider the following statements .

without the atmo.

temp.eraturq would be wcns pg:ig:",
freezing point everywhere on 4
Earth’s surface. :

1 Heat absorbed and trapped by the
" atmosphere maintains our planers
average temperature.

I

1. Atmosphere’s gases, like carbon
dioxide, are particularly good at
absorbing and trapping radiation.

Which of the statements given above are
correct?

(@) 1and III only

() 1and II only

¢(c) 1,1 and III

(d) 1 and III only

80. Consider the following statements about

the Rashtriya Gokul Mission :

. It is important for the upliftment of
rural poor as majority of low
producing indigenous animals are
with small and marginal farmers
and landless labourers.

s ;t was initiated to promote
indigenous cattle and buffalo
rearing and conservation in a
scientific and holistic manner.

}Nhich of the statements given above
s/ are cOrreCt?
(@ 1 only

(b) II only

o(c) Both I and 11
(d) Neith_é,r. I nor 11

o 2
i . |
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he following statements about

: t
conside” 3 ohan Roy :

Rajé
He possessed  great love

L spect for the traditional
;ehﬂosophical systems of the Eaut,

He dcsired h.is countrymen to
accept the rational and. s?ienﬁﬁc
approach and the principle  of
puman dignity and social equality
of all men and women.

IL.

which of the statements given aboye

@ 1only
o) 1 only
o BothIand II
{d Neither I nor II
82 Consider the following subjects with
regard to Non-Cooperation Programme :
L Boycott of law-courts and foreign
cloth

I Observance of strict non-violence

Wl Retention of titles and honours
Without using them in public

o E't".bﬁ'h@nt of Panchayats for
disputes

How
Non&:ir:é:he above were parts of
(@ Ony e

B Programme?
(b) Only two

() omyy three
‘)

m the foyr

PSOISGQ

e imgatlon device Callcd

CAr
Th agh&tta’
83. 8
wa
a water bag made of leather pull
’ (@ over a pulley ed

a large wheel with earthen pots tied

(b) to the outer ends of its spokes

a larger earthen pot driven by

e pullocks

a large water bucket pulled up by

@ rope directly by hand

84, Who among the following rulcrs' in
ancient India had assumed the fitles
‘Mattavilasa’, Vichitrachitta’ and
‘Gunabhara’™

() Mahendravarman I
(b) Simhavishnu
(c) Narasimhavarman I

(d) Simhavarman

88. Fa-hien (Faxian), the Chinese pilgrim,
travelled to India during the reign of

(@ Samudragupta

.{b) chandl‘lgupta n




i Gandharva Mahay:
ong the following led a succeg P i ahavidya,

46 Whofry campaign against the king:;ﬁ 88. Tl;;u sic tralpmg scl"lool, was Setai:’ a
mmSﬁVijaya’ the powerful ~maritim, 1901 by Vishnu Digambar Pajygp,. 1;11
of % which ruled the Malay l"enimuml elhi
2§m;tra. Java and the neighbouring @ P
islands? ) Gwalior

jjain
d Amoghavarsha (Rashtrakuta) (c) Ujj
( ( d) Lahote

o) prataparudra (Kakatiya)

hokan inscripti‘ons suggest that the
() Rajendra I (Chola) 89. A;ra deshika’, Rajuka’ and Yukta’ were

tant officers at the
vishnuvardhana (Hoysala) jmporta™
{d ) vinagc-lcvel administration
a
(b) district-level administration

(© provincial administration
- L

§7. With reference to ancient India (d

(600-322 BC), consider the following

pairs : :

level of the central administration

90. Consider the following statements
; in respect of the Non-Cooperation

Territorial River flowing Movement :
it I- - The Congress declared the
I.  Asmeka : Godavari attainment of ‘Swaraj’ by all
legitimate and peaceful means to
1. Keamboja Vipas be its objective.
M. Avanti . Mahanadi II. It was to be implemented in stages
by ol with civil disobedience and non-
IV. Kosala . Sarayu v

Payment of taxes for the next stage
only if ‘Swaraj’ did not come within

& year and the Government
given above are Tesorted to repression.

Whj

ich of the stat i
ement ven above
18/are Correct? nis gl

() ! only
{b) “ iny

20



. 10 investments, consider
with ffe]{ggveigg : 1. Hedge Funds:
o D e

. gtoC above

b o T
o B
% of the t{;’él‘g?:egwa:eBank of India(??

ich
92 “inn%zmc yfit;:’g and selling Government
Bu
I ponds and selling foreign currency
1L Buy;;gn fund management
m. Ped rivate companies

ding to Privers ==-
3{. Iﬁ:;,ting and distributing currency
tes :
w’;"tﬁe correct answer using the code
.oen below.
(@) Jand I only
p) 1L M and IV
o 1 11, IV and Vv
yfd 1,1 and V
i ference to the Government
" vf)lfth lnrflia, consider the following
information :
Organization | Some of its | It works
functions under
L |Directorate of |[Enforcement |Internal
Enforcement (of the Security
Fugitive Division-I,
Economic Ministry of
Offenders Home Affairs
~ |Act, 2018
WiDirectorate of | Enf
Revenye orces the |Department
ntlligenc Provisions of |of Revenue,
Kltz Customs |Ministry of
m\”‘“m@ EﬁﬂL Finance
| S,";‘t;ml of bi:ng:‘tag out |Department
| bdpe.  [analyt of Revenue,
Ba  |ossinr o 1 |Ministry of
Managem sslst ta_x F.
; ent officers for Inance

0
94 CI.

1.

pich
W are

.

18

ns!

¢ the following stay
%;1; Reserve — Bg ﬁmegfts :
andates all the listeq cork India
in India to submit g B“p‘?nieg
Responmbﬁlétl{ and ustamsa%.e?‘s
chor;ti_(B & )c'om tlity
India, any e
gl BRS}}h ;?akes1 dls?losuiggnilrlfhtrﬁg
ort that are largely non-fing
{relpnaturc . ancial
of the statements given

abo
correct? ve

(b) 1I only

only :
s (d) Neither I nor g

Lsider the following statements -
statement L °

India, inc91p§ from allieq
g;riculmral activities like poultry
frming and wool rearing in rura]
areas is exempted from any tax,

statement 11 :

In India, rural agricultural land is
not considered a capital asset
under the provisions of the
Income-tax Act, 1961. :

Which one of the following is correct in
respect of the above statements?

» (@)

(b)

Both Statement I and Statement II
are correct and Statement 1I
explains Statement 1

Both Statement I and Statement II
are correct but Statement II does
not explain Statement I

(c) Statement I is correct but
Statement II is not correct
(d) Statement 1 is not correct but
Statement II is correct
96. CIonsider the following statements :

IL.

. T

India has joined the Minerals
Sec}m_ty Partnership as a member.
alllldla 1s a resource-rich country in
N the 30 critical minerals that it
as identified.
€ Parliament in 2023 has
?&%nfled the Mines and Minerals
105 ¢lopment and Regulation) Act,
Govern SPowering the Central
.'°Inment to exclusively auction
g lease and composite license

fo : e )
Whichrocertam critical minerals.

?°rractpf the statements given above are
© 1ang }}I °nly (b) Il and Il only

2]

nly o(d) 1, 11 and 111




the following statements :

# Cpatement "

sta regal’ds returns Irom an

. estment i ooR . COIPEAL,
H;‘:erally, bondholders are

%onsidered to be relatively at lower
risk than stockholders.

tatement I:
; Bondholders are lenders to a
company whereas stockholders are

its OWners.

statement I :
For repayment purpose, bond-
holders  are prioritized over

stockholders by a company.

Which one of the following is correct in
respect of the above statements?

+(a) Both Statement 11 and Statement 11
are correct and both of them
explain Statement 1

(p) Both Statement 1 and Statement I
are correct and Statement I
explains Statement 11

() Only one of the Statements I
and 111 is correct and that explains
Statement 1

(d) Neither Statement 11 nor Statement
11l is correct

08. Consider the following statements

1. India accounts for a very
portion of all equity
contracts traded globally
exhibiting a great boom.

1. India’s stock market has grown
rapidly in the recent past even
overtaking Hong Kong's at some
point of time. :

III. There is no regulatory body either
to warn the small investors about
the risks of options trading or to act
on unregistered financial advisors

in this regard.

Which of the statements given above are

correct?

(@ 1 and 11 only

(b) 1 and 1 only

(c) 1and Il only
s(d) 1,11 and 111

large
option
thus

LVPK-O-PSO/56C

22

43

99.

‘(q
1 and I only

(c)
lang only

gider the following Stater
enty '

con
Statemcnt 1t

circular economy .4

tl
gaSeS : he

circular economy reduces ty,

Statement I :

circular economy reduces wa
. st
in the production process, =

which one of the following is correct in
respect of the above statements?

3 (a) Both Statement II and Statement 111

are correct and both of them
explain Statement I

(b) Both Statement II and Statement 1
are correct but only one of them
explains Statement 1

(¢ Only one of the Statements II
and 111 is correct and that explains
Statement I

(d) Neither Statement II nor Statement
Il is correct

100. Consider the following statements :

by : : o
Capital receipts create a liability of
cause a reduction in the assets of
the Government.
I, g ; ‘
: CO‘T"ngS and disinvestment are
& apital receipts. |

Int, , |
liagili?st received on loans creates a
ity of the Government. |

Whlch o

f |
Correctp the statements given above are

b) I
: and 111 only

I
' Mang p




